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32. R'ODOOO Wi, Wo OOOUOOODOOODOW, +We OO0 WinW,OOOOODODODOODO

T+ To —x3 — 2204 =0, 1 + 2x9 + 223 — 3x4 = 0,
(1) Wl - ($1,$271‘3,I’4) ‘ ) W2 = ($1,$271‘3,1‘4)

—x1+2x0+x3 —24 =0 —4x1 4+ 229 — 3x3 + 224 =0
x1+2x2—x3+3x4:0,

(2) W1 =< (21, 22, 23, 24) To + 23+ 224 =0, ) W2:{(171,l’2,$3,934)|I1*$2*$3+3I4:0}

—x14+3x3+x24=0
(3) W1 =(a1,az,a3), Wy = (bi,by,bs)

000 a; =(0,1,—1,1),as = (2,1,0,1), a3 = (1,3,0,4), b, = (1,2,1,1), by = (0,3,2,3), b3 = (—3,0,1,3)

33. Doooooooo

(1) (e1,e2) 0 VO 100000000000 a,b,e,d 0000 f, =aey +bey, fo =cey +de; 000000000
(f1,f,)0 VODOOOOOOOO a,b,e,d 0000000000000
@Hq¢m~y%ﬂjVDIDDDDDDDDDDDaﬁ@j:LZ~UMDDDDj?zi)%qU:LGgm
000000000000 20000000000000000 -

(a) (f1, for---, f,) 0 VODOOODOO

(b)) A=(a;;) 00000000 ADDODOOODO

34. DOODODOOVOOOOOOOOE—-FOOOOOOOD

3 -7 13 ~11
(1) V=R2 E= , F=
2 6 -2 14

4 3 14 —-19
(Q)V—{t(x,y,z)eR‘g|x+2y+z—0},E—< 3. 1 >,F—< 17 || 24 >
2 -5 20 —-29
1 2 1 3 4 3
($V=R§E:< of-|1]:] 1 >,F=< 1 |a 1] ] -2 >
1 0 -2 4 8 6



googogogoooogoo

er = {(—1,3),es = {1,-2), f, = (2,1),f, = (1,1) 00000000 v = fa,b) e R2 000000000 E =
(er,es), F=(f1,f,) 0000000000000 00 v=xie;+22eo 00000000 21,2,000000000
00 —x14+a2=a, 31 — 2o =b0000x1 =2a+0b, 220 =3¢+ 00000000000 EOODOODOOOODOO
=% 2a+0,3a+0)0000000v=y1f;+yfo 0000 y,20 yy=a—b, yo=—a+20000000v00
O rFrOO0OO0O0OOOOOO y:t(a—b,—a—l—Qb)DDDDDDD 000000 PO yOUOOO x=Py00O0O0O
OpPO0OOOODOODOODODOODOOODOOOMOD POODODOODOO E—-FOOODOOO
35.

()000D0DO00 VOOODODOoODOOD E—-FOOOOODOOO

2 4 2 16
(a) V=R2? E= , , F= ,
3 -1 10 3

xT

(2)R*OD000 W,Wo,O0OOODO0O0DO0OO00000OW,We, W1 +Wo, WiNW,00000000000000

—2x4+y+z+w=0 dr —3y+z2z+2w=0

Wy =< (z,y,2,w) € R* . Wa=<z,y,2,w) e R*

Sz —2y—4z—3w =0 —Adr4+y+5z4+2w=0

36. v,w,,w,000O0OODOOO0OO0OO0OV=W,+W,00000000000000000V=W,+W,000

ooooooooo v=w,eW,00000000O00000O0

4 3 1
(1)VR3,W1< 3 1, 1>,W2< 2 >

(2) V =R?, W1=<
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2 1 1 1
v v 2 —3y+2=0

B) V=R Wi=4|, €R3‘3x—4y+2z—0 W=y |er?
3r—5y+2=0

(4) V = R?, W1<
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z+2y—z+3w=0
(5) V=R* Wi = €R! W=
3x+y+2z2—w=0

<

W

w

6)V=M,(R), W, ={00000 eV}, Wo={00OD0OO0O €V}

(MV=M,R), Wi ={AcV | A=A}, Wo={AecV|4=-A4}
(8) V=M,(R), W;, ={00000 €V}, Wo={AeV|4A=-A}

9) V=Py(R), Wy ={feV|f0)=0}, Wo={feV|f(x)=0}

x 3z —2y+3z+w=0

Y
€R! dr —2y+2z4+w=0

w T—2y+5z+w=0

(10) V = Py(R), W, = {f eV /Olf(x)dx - o}, Wy = {f ev| /_Olf(a:)dac = o}

37. DDOOOOOOOVOOOOOOOOO00O0 Wi, We OO Wi +W,o, 0 VODOOOOOODOOOO

38. D0DOODOoDOOOVOOOOOOO0O Wi, Wo OOODDOV=W+Wo 000 V=W,eoW,0O00OOOO

goood



